LI: I am learning to round to estimate answers to a calculation.
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The SSE Hydro in Glasgow has a maximum
capacity of 13,000. Justin Bieber sold 12,367
tickets for one of his gigs.

* Round this to the nearest 10

* Round this to the nearest 100
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The Scottish League Cup final takes place at
Hampden. Hearts were playing Aberdeen and
46,834 tickets were sold.

* Round this to the nearest 10

*  Round this to the nearest 100 ,
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LI: I am learning to round to estimate answers to a calculation.
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Murrayfield Stadium in Edinburgh can hold a
maximum capacity of 67,144.

* Round this to the nearest 10
* Round this to the nearest 100

* How would we round this to the nearest 10007 ,
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A 2014 traffic survey showed that 2,299,375
vehicles passed over the Forth Road Bridge in the
month of June.

* Round this to the nearest 10

* Round this to the nearest 100




